ApeHpa

2-K.KBapTUpa, 48 M2, 2/2 3T.

KOYkHo-CaxanuHck,

r KOxkHo-CaxanuHck, yn Opy»x6bl, o 60

¢ py6. 50 000




COaM OBYXKOMHATHYIO KBAapTUPY Ha ONUTENbHbIN
CPOK, KOMHaTbl pa3genbHble.OnnaTta 50 000 T1.p
+cBeT. N9 KOMPOPTHOM XU3HWM BCE eCTb. B MUMHYyTE
XoAbbbl TOProBbIM LeHTP CTpaHHUK, CKBeP,
OCTaHOBKMW.




KonunyecTtBo KOMHaT: 2
dTax: 2

Tun caHy3na: PasgenbHbin
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O6LWwaqa nnowanb: 48 M2
DTaxken B gome: 2
PeMOHT: KOCMeTUYEeCKUm
Hanudmne mebenu: pa
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KoppeKuWoHHan
wxona Hapexna

0

a PyBukoH
E
E
o
i)
=
D
H
w -
n =
ir r
= ™

Y

&

P R

Lea wewatiaHonL 4T

AQMHHHUCTPAUMWA

paioHa

ad

HENIALDD



